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92001
B. Sc. 3rd semester »(Chemistry)
Examination — November, 2014

INORGANIC CHEMISTRY, CH-201
Paper: VIII

Time : Three Hours ] : [ Maximum Marks : 29

Before answering the questions, candidates should ensure that
they have been supplied the correct and complete question paper.
‘No complaint in this regard, will be entertained after examination.
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Note: Attempt five questions in all. Question No.1 is
compulsory. Selecting one question from each

Section.
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1. (a) Define complex ion. Fxb=5
HiFerad AT Bl GRAINT BRI |

(b) Name the 3d series element, which is not

included in category of transition elements.
SIFSTE Teflied @ bt St wnfiet el §
S 3d RIS Gefiie o1 =19 gy |

(c) What is Ziegler Natta catalyst ?

TR ATeT defore T 8 2

(d) Give an example of non-aqueous solvent.
A Ueaw dfede ®T IATER LIy |
(e) Give an example of chelating ligand.
frafee oifs @1 Samever R |
SECTION - |

grs -1

2. (a) What are transition elements ? Why they so
called. 2,22

ciffsee . woled @ ® ? 9 YT @&
HeAd B ?

92001- 18800 -(P-7)(Q-9)(14) (2)



(b) Why zinc can form only Zn*2 jon and not Zn*3

ions.
i 9T Zn+2 3 ST & 3R Zn3 3T & ?

(c) Why d-block elements shows variable oxidation

state.

I -l Teibicd, IRIga sTRisIT we
foama & ?

3. (a) Write the name and atomic number of all first

transition series elements. 2,2,2

T goF CIFIRE Ueiicd @ A9 a1 Ueiis
TR faRay |

(b) Write the general characteristics of d-block

elements.
=it Yeitied @ wmrg faRarg forfen |
(c) Explain the Structure and Properties of VOCl,

VOCIL, @ |- ToIT T[0T HALEY |
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(b) Why zinc can form only Zn*2 ion and not Zn*3

ions.
T qT Zn+2 3T I91T & 3R Zn*3 1T -8l 2

(c) Why d-block elements shows variable oxidation

state.

T s Teiicy, NIga RS e
feam g ?

3. (a) Write the name and atomic number of all first

transition series elements. - 222

T v IR Uelicd &AM qel (Ciffd
TR forfay |

(b) Write the general characteristics of d-block

elements.
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VOCL & ERET ToIT T[0T HHSMSY |
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SECTION - 1I
grg - i

4. (a) How does mercury differ from rest of its
members namely Zinc and cadmium ? Why this
group is different from the other transition metal
groups. ‘ 3,3
WHY T R T I bl AR e F
fodr gopR e gefRfa @=ar 8 ? @' gu =

. SIS =T | =1 € 2

(b) Define coinage element. Why they so called. Give
example of coinage element. _
BTl Teliie & aRwifie i) 3 S oot
HEATT © ? BISIA YelHc BT IR ST |

5. (a) How do the chemistry of second transition series

elements differs from first transition series. 3,3

goE g AR 9 fgd aitee Ew
Tl & IS o7 By e € P

(b) Describe the various oxidation states exhibited by

third transition series elements.

wod yaRid a8 | fadeEr a |
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SECTION -1l

gug -l
6. (a) Explain the following with example : 3,3
(i) Geometrical isomers »
Rrmifeaer smewmed
(ii) Co-ordination isomers
PI-AMETT argeivd
‘(b) Explain the structure and magnetic behavior of'
Ka[Fe(Br)s] using Valence bond theory.

deIF 9198 oI BT SUART e Ku[Fe(Br)s] @t
Wamﬁ%mﬁ%ﬁwaﬁwml

7. (a) Explain the structure, Hybridization, magnetic
behavior, of [Ni(CO)4] complex using Valence

bond theory. : i 33

T s @ BT SwEE v [Ni(CO),]
PRI B AT, SSRSTOR qor e
feefaar a1 wasmey |
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(b) Explain Sidwick theory with example. Calculate
EAN of central atom in the [Ni(CO)s] and Ks
[Fe(CN),].
fsfd®m <l @1 Soevwr  Wfed  GHHsy|
[Ni(CO)s] Td K3 [Fe(CN),] # ¥=%el TeH & EAN
@1 TOET BT |

SECTION - IV

gvus - IV

8. (a) What are non-aqueous solvents. Discuss the
reducing nature of solution of Na in liquid

ammonia. 33
AT-ugey dicde @1 € ? fafdas smifar § Na
% AP @7 "edl UPpia BT goid HIfoTg |

(b) Explain the following :

f=forRaa @1 |awemEy

(i) Acetamide behaves as an acid in liquid

ammonia.

Riewes ofdas st § /e &1 o_E
TIER BRI T |
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(ii) Sodium amide behaves as in base un liquid

ammonia

HifeTm vags foifdae st & ar @
T8 FIER B ¢ |

9. Explain the following reaction in liquid sulphur
dipxide - : 33
ferfaas wewx Srgsifase # fFfoRaa st
BT HAATY |
(a) Acid-Base reactidn

IFA-eTR 3rfAfehar

*
(b) Precipitation reaction

ufafaees sifafasar
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